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1) At a given instant, the wheel is rotating with the angular motions shown. Deternine
the velocity and acceleration of the collar at A at this instant. (Instantaneous Center of

Zero Velocity and Relative-Motion Analysis: Acceleration)
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2) The man stands on the platform at O and runs out toward the edge such that whe he
is at A, y = 5 m, his mass center had a velocity of 2 m/s and an acceleration of - m/
s°, both measured with respect to the platform and directed along the y axis. If the
platform has the angular motions shown, determine the velocity and acceleration of his

mass center at this instant. (Relative-Motion Analysis Using Rotating Axes)
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3) The spool has a mass of 100 kg and a radius of gyration ks = 03 m. If the

coefficients of static and kinetic friction at A are Hy = 0.2 and p, = 0.15, respectiely
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3) The spool has a mass of 100 kg and a radius of gyration k; = 03 m. If the
coefficients of static and kinetic friction at A are y, = 0.2 and p, = 0.15, respec ively,
determine the angular acceleration of the spool if P = 600 N. (Force and Acceleiation:

General Plane Motion)
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4) The two bars are released from rest at the position 6. Determine their angu ar

velocities at the instant they become horizontal. Neglect the mass of the roller at C.

Each bar has a mass m and length L. (Work and Energy: Conservation of Energy)
B
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